CodeNo.: 2190

CHEMICAL ENGINEERING THERMODYNAMICS

Time: 2230Hours] [Maximum Marks: 50

[Minimum Marks: 17

NOTES:

Q1

Q2

Q3

Q4)

Q95)

i) Attempt all questions.

ii) Students are advised to specialy check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the studentsis not allowed.

Attempt any two partsof thequestion: [2x5=10]
a Differential between state and path functions, giving examples.
b) Explain Dalton’sLaw.

c) What is 1% Law of Thermodynamics?

Attempt any two partsof thequestion: [2x5=10]
a) Explain Isothermal and I sobaric processes.
b) Explainworking of Carnot Cycle.

0 Wheat is coefficient of performance and efficiency?

Attempt any two partsof thequestion: [2x5=10]
a) State Third Law of Thermodynamics.
b) Explain the principle of increasein entropy.

0 Explain working of vapour compression refrigeration.cycle.

Attempt any two partsof thequestion: [2x5=10]
a) Write applications of latest refrigerants.
b) Differentiate between dew point and bubble point.

0 What is fugacity and fugacity coefficient?

Writeshort noteson any two: [2x5=10]
a) Gibb’sphaserule
b) Liquefication process

0 Difference between reversible and irreversible process
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